
       Model- Question Paper 

2021 

Subject- BMT 

Class – XII
th   

SET-II  

Objective type question  

(oLrqfu"B ç’uoLrqfu"B ç’uoLrqfu"B ç’uoLrqfu"B ç’u) 

 

Choose the Correct Answer :       1X30=30 

llllgh mÙkj pqusaAgh mÙkj pqusaAgh mÙkj pqusaAgh mÙkj pqusaA        
 

 

1. Which is the 27
th

 term of the sequence  5, 14, 23 ……………? 
 

1) 239     2) 100 
3) 101     4) 900  
 

 vuqØe 5]14]23 ----------- dk 27ok¡ in fuEukafdr esa dkSu gS\  
1) 239     2) 100 
3) 101     4) 900  
 

2. 
The Value of 

8!

6!
  

 

1)   48     2) 56 

3)  64     4) None of these  

 
( 

8!

6!
 dk eku gSA½ 

1)   48     2) 56 

3)  64     4) buesa ls dksbZ ugha 
3. Two sets are disjoint if and only if  

 

1)  A B φ=I     2) A B φ≠I   

3)  A B φ− =  
 

  4)  A – B = B 

 nks leqPp; vla;qDr gksrs gSa ;fn vkSj dsoy ;fn  
 

1)  A B φ=I     2) A B φ≠I   

3)  A B φ− =  
 

  4)  A – B = B 

4. The 10
th

 term of the G.P 24, 12, 6 …………….. is 
 

1)   
1

64
    2) 

3

64
 

3)  
5

64
     4) 

7

64
  

 xq.kksÙkj Js<+h 24] 12] 6 ------------------- dk 10ok¡ in gksxkA  

1)   
1

64
    2) 

3

64
 

3)  
5

64
     4) 

7

64  
 

Full Marks- 100 
 

Time- Allowed : 3 Hours 
 



 

5. How many terms are there in A.P 1, 3, 5, 7 …………… 99  

 
 

1) 40     2) 30 
3) 50     4) 45 
 

 lekUrj Js<+h 1]3] 5]7 --------------99 esa fdrus in gS 
1) 40     2) 30 
3) 50     4) 45 
 

6. 
The sum of infinite terms of G.P 

2

1 1
1 ...........

2 2
+ + +  is  

 

1) 4     2) 
5

2
 

3) 
3

2
    4)  2  

 

 
lekUrj Js<+h  

2

1 1
1 ...........

2 2
+ + +  ds vuUr inksa dk ;ksx gS &  

 

1) 4     2) 
5

2
 

3) 
3

2
    4)  2  

 

7. Insert two arithmetic means between 68 & 260  
 

1) 132, 196    2) 130, 194  
3) 70, 258    4) None of the above  
 

 68 ,oa 260 ds chp nks lekUrj ek/;ksa dk eku fudkysa 
1) 132] 196   2) 130] 194 
3) 70] 258    4) buesa ls dksbZ ugha 
 

8. np r
is equal to   

 

1) 
( )!

n

n n r−
    2) 

!

(r )!

n

n−
  

3) 
!

(n )!

n

r−
    4) none of these  

 

 np r
leku gksxk   

 

1) 
( )!

n

n n r−
    2) 

!

(r )!

n

n−
  

3) 
!

(n )!

n

r−
    4) buesa ls dksbZ ugha  

 
 



9. If A is a set of the letters of the word ‘eat’ then which one is correct ?  
 

1) e A∈     2)  A a∈  

3) t A∉     4) at A∈  

 ;fn 'kCn ‘eat’ ds v{kjksa dk leqPp; A gS rks fuEu esa dkSu lgh gS\  
 

1) e A∈     2)  A a∈  

3) t A∉     4) at A∈  

10. 
If  

2 4 3 2
,

6 5 5 2
BA

   
=   

−   
=  then A+B will be  

 

1) 
2 5

6 5

 
 
 

    2)  
3 3

4 5

 
 
 

 

3) 
5 2

3 2

− 
 
 

    4)  
5 6

1 7

 
 
 

 

 

 
;fn  

2 4 3 2
,

6 5 5 2
BA

   
=   

−   
=  rc A+B  gksxk &  

 

1) 
2 5

6 5

 
 
 

    2)  
3 3

4 5

 
 
 

 

3) 
5 2

3 2

− 
 
 

    4)  
5 6

1 7

 
 
 

 

 

11. If the number of rows of a matrix is greater than the number of columns then the matrix 

is called as   
 

1) a row matrix   2) a column matrix   
3) a rectangular matrix  4) a square matrix 
 

 ;fn fdlh eSfVªDl dh iafÙk;ksa dh la[;k LraHkksa dh la[;k ls vf/kd gS rks 
eSfVªDl dks -------- dgk tkrk gSA 
1) ,d iafä eSfVªDl  2) ,d dkWye eSfVªDl 
3) ,d vk;rkdkj eSfVªDl 4) ,ds oxZ eSfVªDl 
 

12. The 10
th

 term of A.P 10, 5, 0, -5, -10 is .. 
 

1) 30     2) 35  
3) -35     4) 25  
 

 A.P 10, 5, 0, -5, -10 dk 10ok¡ in gS & 
 

1) 30     2) 35  
3) -35     4) 25  
 

13. If p
th

 term is q and q
th

 term is p of an A.P then its r
th

 term is  
 

1) p+q+r    2) p - q - r  
3) p + q – r    4) p – q + r  
 



 ;fn fdlh A.P dk pok¡ in q rFkk qok¡ in p gks rks bldk rok¡ in gS &  
1) p+q+r    2) p - q - r  
3) p + q – r    4) p – q + r  
 

14. The value of 10
2

p is  

 

1) 100     2) 90 
3) 70     4) 80 
 

 10
2

p  dk eku gS 
 

1) 100     2) 90 
3) 70     4) 80 

 

15. If  
4

np
  

¾ 360 then the value of n will be   

 
 

1)  -5      2)  -6 
3)   6     4) none of these    
 

 ;fn  
4

np
  

¾ 360  rks  n  dk eku gksxk   

 
 

1)  -5      2)  -6 
3)   6     4) none of these    

 

16. If  
10 4

C
n n

C=
  

then  n  is  

1) 10     2) 4 
3) 14     4) 20  
 

 ;fn  
10 4

C
n n

C=
  
rks  n  gS 

1) 10     2) 4 
3) 14     4) 20  

 

17. 

The value of determinant 

1 3 1

2 5 4

6 1 5

 
 
 
  

is  

 

1) 35     2) 45  
3) 56     4) 64 
 

 

Lkkjf.kd 

1 3 1

2 5 4

6 1 5

 
 
 
  

dk eku gS & 

 

1) 35  2) 45    3) 56   4) 64 



 
 

18. 
If 

3 2

3 1
A

 
 
 

=  then A’ is  

;fn
3 2

3 1
A

 
 
 

=  rks A’ gS 

 
 

1) 
3 2

3 1

 
 
 

    2) 
3 3

2 1

 
 
 

 

3)  
1 1

2 2

 
 
 

    4) 
3 3

2 2

 
 
 

 

 

19. Let A = {2, 3, 4}, B= {3, 4} C = {4, 5, 6} then ( )A B CU I  is  
 

1) {3 }    2) { 4 }  
3) {2, 3, 4 }    4) None of these  
 

 ekuk fd  A = {2, 3, 4}, B= {3, 4} C = {4, 5, 6} rc ( )A B CU I gS &  
 

1) {3 }    2) { 4 }  
3) {2, 3, 4 }    4) buesa ls dksbZ ugha   
 

20. If  A = {a, b, c, d},  B= {b, d, e, f } then the value of A BI  is - 
 

1) {a, b, c, d, f }   2) { b, d }  
3) {c, d, e }    4) { c, d, e}  
 

 ;fn  A = {a, b, c, d},  B= {b, d, e, f }  rks A BI  dk eku gksxk 
 

1) {a, b, c, d, f }   2) { b, d }  
3) {c, d, e }    4) { c, d, e}  
 

21. 
If  3 22Y x x= −  then  

dy

dx
   is  

 

1)  3x
2
 – 4x     2)  x

3
 – 2x

2  
3) 4x – 3x

2
    4)  2x

5
 

 

 ;fn 3 22Y x x= −  rks  
dy

dx
   gS  

 

1)  3x
2
 – 4x     2)  x

3
 – 2x

2  
3) 4x – 3x

2
    4)  2x

5
 

 

22. The value of  
4

7 p  is    

4
7 p  dk eku gS &   

 

1) 7 6 5 4× × ×     2) 4 3 2 1× × ×  

3) 7 4×      4)  7 4×  
 



23. Which of the following is must uncertain average?  
 

1) Mode     2) Median   
3) Harmonic mean    4) Arithmetic mean   
 

 fuEu esa dkSu lk vfuf’pr ek/; gS\ 
 

1) cgqyd    2) ekf/;dk  
3) gjkRed ek/;    4) lkekUrj ek/;    
 

24. If mean of ‘x’ is 50 then mean of U=10+5x will be  
 

1) 250     2) 260  
3) 265     4) 3  
 

 ;fn ‘x’ dk ek/; 50 gS rks  U=10+5x dk ek/; gksxk  
 

1) 250     2) 260  
3) 265     4) 3  
 

25. If median is 36 and mean is 32 then mode will be : 
 

1) 12      2) 24  
3) 36     4) 44  
 

 ;fn ef/;dk 36 gS rFkk lekarj ek/; 32 gS rks cgqyd gksxk 
 

1) 12      2) 24  
3) 36     4) 44  
 

26. Trend analysts  refers to long term tendency to…….  
 

1) Increasing only   2) Decreasing only  
3) Increase of decrease   4) None of these  
 

 miufr n’kkZrk gS nh?kZdkyhu ço`fr ds  
 

1) dsoy c<+us dh   2) dsoy ?kVus dh   
3) c<+us vFkok ?kVus dh  4) buesa ls dksbZ ugha   
 

27. The most important factor causing seasonal  Variations are 
 

1) Growth     2) Change in fashion   
3) Whether and Social Customs  4) Technological Improvement   
 

 ekSleh ¼_rqfu"B½ forj.kksa dks mRiUu djus okys lcls egRoiw.kZ dkjd gSa 
 

1) tula[;k o`f)    2) QS’ku esa ifjorZu   
3) eksle vkSj lekftd jhfr fjokt 4) rduhdh lq/kkj    
 

28. How many permutations can be made out of letters of the work TRIANGLE.  
 

1) 40,320    2) 14,400  
3) 5,04    4) None of these  

 
 



 TRIANGLE 'kCn ds v{kjksa ls fdrus Øe;; cuk;s tk ldrs gSa\ 
 

1) 40,320    2) 14,400  
3) 5,04    4) buesa ls dksbZ ugha   
 

29. The arithmetic mean of 5, 10, and 15 is   
 

1) 5     2) 10  
3) 15     4) none of these   
 

 5, 10, 15  dk lekarj ek/; gS % 
 

1) 5     2) 10  
3) 15     4) buesa ls dksbZ ugha    
 

30. For the Calculation of Arithmetic means the class intervals should be  
 

1) Exclusive     2) Unequal   
3) Equal     4) All are possible   
 

 lekUrj ek/; dh x.kuk ds fy, oxkZUrj gksus pkfg, 
 

1) viothZ    2) vleku   
3) leku    4) lHkh laHko  
                                        fjDr LFkku HkjsafjDr LFkku HkjsafjDr LFkku HkjsafjDr LFkku Hkjsa  Fill in the blanks :-                                      1X10=10   
 

31. For the average salary of a teacher, the suitable mean is ……………. 

,d v/;kid ds vkSlr osru ds fy, ------------- ek/; mi;qDr gSA 
 

32. Mode = 3 Median &   ………………… 

cgqyd ¾ 3 ekf/;dk & --------------- 
 

33. Representing majority out of total frequency is called ……….. 

dqy ckjacjrk esa lkokZf/kd dks fu:fir djus okyk eku -------- dgykrk gSA 
 

34. 
 (If) ;fn  

2 4 6 5 6 7
,

3 5 7 7 8 9
A B

   
= =   
   

 then rks A + B = …………. 

35. Which term of G.P. 1,  3 , 3   ………. Will be 81 

G.P. 1,  3 , 3   ………. dk dkSu lk in 81 gksxk\ 

36. Sum of the series 2+7+12+ ……..+297 is ………….. 

Js.kh 2+7+12+ ……..+297 dk ;ksx --------- gksxkA 

37. 
The value of 

7 12

9 22
 

7 12

9 22
 dk eku gS 



38. …………… give forecast for the future  

-------------- Hkfo"; dk iwokZuqeku çnku djrk gSA  ¼ interpolation/ Extrapolation½ 

          ¼vkUrjx.ku @ ckáx.ku½ 
 

39. Newton’s  advancing difference method is also called ……... difference method.  

U;wVu dh ç.kkyh vUrj jhfr dks --------------- jhfr Hkh dgk tkrk gSA  

40. The arithmetic mean of 6 and 10 is ………….. 

6 rFkk 10 ds chp lekarj ek/; gS 

    vvvvfr fr fr fr Yk?kq mÙkjh; Á’uYk?kq mÙkjh; Á’uYk?kq mÙkjh; Á’uYk?kq mÙkjh; Á’u  Very Short Answer Type questions :-                       2X10=20 

41. Find the 6
th

 term of the series 10, 8, 6, 4 …………… 

Js.kh 10] 8] 6] 4 dk 6ok¡ in Kkr djsaA  

42. Find the 10
th

 term of the series 1, 2, 4, 8 …….. 

Js.kh 1]2]4]8 dk 10ok¡ in Kkr djsaA 

43. If  427 pr
=   then   Find the value of r.  

 ;fn  427 pr
=   gks rks   r dk eku crkvksA  

44. In how many ways 12 things can be distributed among 4 person Equally.  

12 oLrqvksa dks 4 O;fDr;ksa esa cjkcj&cjkcj fdrus çdkj ls ck¡Vk tk ldrk 

gS\  

45. If ;fn A = {1, 2, 3, 4},  B= {1, 3, 5, 7},  C= {3, 4, 5, 6 } then rks Find A B CI I  Kkr 
djsaA  

46. What do you Understand by analysis of time series. 

dky Js.kh fo’ys"k.k ls vki D;k le>rs gSa\ 

47. Calculate median of the following data  

fuEufyf[kr vk¡dM+ksa dh ekf/;dk fudkysaA 

94]33]86]68]32]80]48]70 

48. The average age of 5 Children  is 8 years. If the age of the father is included, the average 

increased by 7 years. Find the age of the Father.  

5 cPpksa dh vkSlr vk;q 8 o"kZ gSA ;fn firk dh mez 'kkfey dj yh tk; 

rks vkSlr 7 o"kks± ls c<+ tkrk gSA firk dh mez crk,¡A  

49. The following are the mark secured by 20 students in statistics. Find the mode.  

20 Nk=ksa ds }kjk lkaf[;dh esa çkIr vad fuEufyf[kr gSA Hkwf;"Bd Kkr 

dhft, 

15]10]25]30]32]16]22]24]15]17]20]25]27]30]38]25] 

28]30]25] 24 



50. Find out geometric mean of 3, 8 and 9  
3] 8 vkSj 9 dk xq.kksUrj ek/; crkb,A  

 

 Yk?kq mÙkjh; Á’uYk?kq mÙkjh; Á’uYk?kq mÙkjh; Á’uYk?kq mÙkjh; Á’u  Short Answer Type questions :-                            4X5=20 

51. Differentiate with respect to x, the following function  

fuEu Qyu x ds lkis{k vodyu dhft,A  

 15x
3
 – 9x

2 
+ 7x + 29 

52. Evaluate the following determinants .  
 

1 2 4

2 3 7

3 4 16

 
 
 
  

 

 

53. Find the sum of all the natural numbers between 150 & 500 which is divisible by?  

150 vkSj 500 ds chp lHkh çkd`frd la[;kvksa dk ;ksx fudkysa tks 9 ls 

foHkkftr gksrs gksaA  

54. Find the sum of 1+2+4+8+ ……to 12 terms. 

1+2+4+8+ ……rks 12 in dk ;ksx Kkr djsaA  

55. Calculate the median from the following data 
fuEu vk¡dM+ksa ls ekf/;dk Kkr djsa 

  

Mid 

value 
50 150 250 350 450 550 

Frequency 4 6 10 10 7 5 

 

                        nnnnh?h?h?h?kZkZkZkZ    mÙkjh; Á’umÙkjh; Á’umÙkjh; Á’umÙkjh; Á’u  Long Answer Type questions :-                            5X4=20 
 

56. In a group of 900 people, there are 700 who can speak Hindi & 400 who can speak 

English. How many can speak Hindi only? How many can speak English only? How 

many can speak Hindi & English both. 

900 yksxksa dh lewg esa 700 fgUnh Hkk"kk cksy ldrs gSa rFkk 400 vaxzsth 
Hkk"kk cksy ldrs gSaA fdrus dsoy fgUnh cksy ldrs gSa\ fdrus dsoy vaxzsth 
cksy ldrs gS\ fdrus nksuksa Hkk"kk fgUnh vkSj vaxzsth cksy ldrs gS\ 

57. By Binomial expansion method interpolate the missing figure. 

f}in foLrkj jhfr ls vKkr vad Kkr djsaA 

 
 

 

o"kZ 
Year 

2004 2005 2006 2008 2009 550 

ykHk yk[k esa 
Profit Lakh 

50 45 ? 38 35 30 

 
 

58. 
;fn If  

1 2

0 3
p

 
=  
 

 vkSj (and)  
1 3

3 2
Q

 
=  

− 
 (Find)  

 

p
2
+5Q+8I dk eku fudkysaA 



 

59. Find the mean and median of the following series . 

fuEufyf[kr Js.kh dk ek/; rFkk ef/;dk Kkr djsa %   
 

  

Wages (in rupees) 
etnwjksa ¼ #i;s esa½ 
 

0-10 10-20 20-30 30-40 40-50 50-60 

No. of workers  
etnwjksa dh la[;k 

6 10 10 16 12 8 

 
 

 


